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2 4.3

56. The fifth-order partial derivative 3°f /ax?dy* is zero for each of the
following functions. To show this as quickly as possible, which
variable would you differentiate with respect to first: x or y?
Try to answer without writing anything down.

a. f(x,y) = yxte* + 2
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61. Let f(x,y) = 2x + 3y — 4. Find the slope of the line tangent to
this surface at the point (2, —1) and lying in the a. plane x = 2
b. plane y = —1.
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65. Find the value of dz/dx at the point (1, 1, 1) if the equation

xy + 22x —2yz=10

defines z as a function of the two independent variables x and y
and the partial derivative exists.
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_ [y y=0
71. Let f(x,y) = {—yz, v < 0.
Find f,, f,, f,,and f,,, and state the domain for each partial
derivative.
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0, xX2<y<2u?
1, otherwise.

92. Let f(x,y) = {

Show that f,(0, 0) and f,(0, 0) exist, but f is not differentiable at
(0, 0).
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